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UNIVERSITY OF NORTH BENGAL
B.A. Honours 6th Semester Examination, 2023

DSE-P4-SANSKRIT
Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.

The question paper contains DSE-4A and DSE-4B.
Candidates are required to answer any one from the rwo papers and they should
mention it clearly on the Answer Book.

(AR AP TN SR RITCTT | Jad™ )
DSE-4A
Unit-I
1. Uy IR U<dHq 6x1=6
(@) SURFEANRTIER YDfdui= Poc|
(%) NEHdTrs HER JFATTRY qUiHT T |
2. ST FAYT IR USTH]. 3x2=6

(@) Hergd MR |
() STIREART Tpier:
() SAFFTIDcTel Tepferiers |

3. srforafar yuur STR UeTq 1x6=6
(@) TENDPUT JHTHT: P acid |
(%) IARTREET: P A 2
() APciell P T |8 ey 2
(&) JEV : ATTiaTED: [RJh: ?
() TP gUI P acial ?
() e TR DTN THLAT: TFeT: A4 fereaa |
() T BV GUHT TR SBJHER FETDI |
(ST) TSTRIHTIAT FETYSIT B febares 2
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4.

5.

Unit-TT
el YRALTHTEAT el HicTohfofdT AfdeeH TR |
arerar
SIS HYSRIhaUHT HaUT A Tad |
FAYUT gAT: FTR TSI —
(@) ferenfe el Hareead e Tecad,
(@) TIISTRT0T g eRUM |
() A TRALTHTET |
Unit-TIT

FIHT: TpTII AT,
3FereT
HETBI Tt Tepiciiers Bliciaraed AR JTered |

FAYOT TR T (FT:)
(@) PICTCIRY HETDBTY Fpiciemr
(@) Hlgedred IR — qufT |
() IR e |

STfATard §UUT TR <
(@) IHRIO HRAT: TET: JuiHT TR 2
(@) B S frauRaerieas: aiferd: waf |
() ARELHTEAT TRBIICD PA P el 2
CIETRGIPUNCNEREISY
(S) TrET: Hpffasd e b 2
() STHTRT: PRI URILREIV Peled ?
(8) T A HTicrep: TIRIer: ?
(ST) <+ YSUUT ef: HEF IFITT 2
DSE-4B
Unit-1
PR e,
() HTHITIIRT STRIGRY HHIepTer: el 3Tac] 3T AT AT o |
() TR FIGHHI: AR |
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2. A feoquft wraf —
qTefeeh:, IR, Vo fedT

3. FF&@WW(@:)
(@) AFTHC: B I 2
() TR YIS HRE I TR STl ?

() 3 aﬁa: O I T SUTgoUU] (—qﬁlccbd: ?

Unit-I1

4. UDRATR WeIq

() IRDPATBTRIT: FAATHRIDY deTAGIUH AT |

() SRS RM STLRIH R 3YeTe FANT54 JATelradd |

5. g fecoft et
TheTa=:, I9:, SSITEUH |

6.  CRMHIRR J<H (YUUTH)
(@) Premacd foe 2
() RIS P HAIorH, ?
() qOTEAT: RrsTurt AT foreg= |
() TREOATSAAT: TS TR &F 2

() P AT RP: ?
(<) PAIRI HFHSINT: ST wafee ?
(®) Sfsa: :?

(S) W@—%W afea ?
(37) TIURY ShicT FehRT: Hiwel ?
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6x2=12

I1x6=06



